REHRERERHBR

AlEHAH Tr244%1H4H

hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A N 0.097 0.105 0.101
2 B = I 0.087 0.091 0.089
g A P F K 0.098 0.097 0.098
B B Y M 0.098 0.104 0.101
BEARARER(KEAE) 0.210 0.229 0.220
BERARER(2E) 0.292 0.252 0.272
# 7 R E £ 0.553 0.546 0.550
ERIREE LIS 0.317 0.307 0.312
BERECLV2— 0.345 0.352 0.349
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.091 0.094 0.093
g2 B = 0.091 0.097 0.094
B A b F K 0.099 0.099 0.099
B B Y M 0.100 0.097 0.099
BEEREM(KED) 0.236 0.235 0.236
BRARFEM(DE) 0.239 0.202 0.221
# 7 R E £ 0.383 0.389 0.386
B RIUkE RIS 0.305 0.296 0.301
BEXEtL 97— 0.330 0.319 0.325
HES1m B v1yny—A' Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.091 0.101 0.096
g A = I© 0.093 0.115 0.104
B A b F K 0.103 0.104 0.104
B B Y M 0.109 0.105 0.107
FERRER(KE) 0.235 0.235 0.235
BERAREM(HE) 0.189 0.191 0.190
% A R B f§ 0.323 0.324 0.324
ERIIREE LIS 0.285 0.290 0.288
BEREL 42— 0.272 0.284 0.278

SGAEX., BHEZORE-BEDHRREFICHSINT, 9:00(EHHTEEELEIX10:00), 15:00M1
H2[E. #1 E&1cm, 50cm. TmD3 M TEHRAIL TLVET,




REHRERERHBR

AlEHAH Tr24%1H5H

hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A I 0.097 0.099 0.098
2 B = I 0.101 0.096 0.099
g A P F K 0.131 0.129 0.130
B B Y M 0.103 0.108 0.106
BEARARER(KEAE) 0.190 0.190 0.190
BERARER(2E) 0.248 0.263 0.256
# 7 R E £ 0.556 0.565 0.561
ERIREE LIS 0.309 0.325 0.317
BERECLV2— 0.330 0.393 0.362
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
g B — I 0.090 0.098 0.094
g2 B = 0.117 0.112 0.115
B A b 2 K 0.124 0.121 0.123
B B Y M 0.099 0.103 0.101
BEEREM(KED) 0.222 0.221 0.222
BRARFEM(DE) 0.257 0.237 0.247
# 7 R E £ 0.322 0.344 0.333
B RIUkE RIS 0.302 0.324 0.313
BERELV2— 0.313 0.331 0.322
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.090 0.101 0.096
g A = I© 0.125 0.120 0.123
B A b F K 0.111 0.112 0.112
B B Y M 0.101 0.096 0.099
FERRER(KE) 0.245 0.234 0.240
BERAREM(HE) 0.198 0.203 0.201
% A R B f§ 0.303 0.322 0.313
ERIIREE LIS 0.290 0.310 0.300
BERECLV 22— 0.279 0.301 0.290

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




REHRERERHBR

AlEHAH Tr24%1H6H

hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A N 0.101 0.099 0.100
2 B = I 0.086 0.093 0.090
g A P F K 0.111 0.109 0.110
B B Y M 0.090 0.096 0.093
BEARARER(KEAE) 0.215 0.260 0.238
BERARER(2E) 0.258 0.258 0.258
# 7 R E £ 0.573 0.345 0.459
ERIREE LIS 0.301 0.316 0.309
BERECLV2— 0.339 0.343 0.341
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.099 0.096 0.098
g2 B = 0.099 0.102 0.101
B A b 2 K 0.121 0.119 0.120
B B Y M 0.088 0.096 0.092
BEEREM(KED) 0.232 0.232 0.232
BRARFEM(DE) 0.216 0.200 0.208
# 7 R E £ 0.386 0.319 0.353
B RIUkE RIS 0.298 0.314 0.306
BERELV2— 0.318 0.328 0.323
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.100 0.104 0.102
g A = I© 0.093 0.104 0.099
B A b F K 0.108 0.105 0.107
B B Y M 0.111 0.099 0.105
FERRER(KE) 0.215 0.254 0.235
BERAREM(HE) 0.187 0.181 0.184
% 7 R E £ 0.334 0.318 0.326
ERIIREE LIS 0.291 0.313 0.302
BERECLV 22— 0.274 0.285 0.280

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




REHRERERHBR

BIEAH Frk2441H108
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A N 0.099 0.101 0.100
2 B = I 0.082 0.095 0.089
g A P F K 0.098 0.097 0.098
B B Y M 0.095 0.098 0.097
BEARARER(KEAE) 0.332 0.198 0.265
BERARER(2E) 0.240 0.288 0.264
# 7 R E £ 0.507 0.573 0.540
ERIREE LIS AEBDI=HKRETHE
BERELV2— AEBDT=HKRETH
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.101 0.102 0.102
g2 B = 0.097 0.097 0.097
B A b F K 0.095 0.096 0.096
B B Y M 0.095 0.101 0.098
BEEREM(KED) 0.242 0.233 0.238
BRAFM(DE) 0.214 0.191 0.203
# 7 R E £ 0.365 0.377 0.371
S RIILpE ERRES AEBDI=HKRETHE
BERELV 22— AEBD=HKRETH
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.102 0.100 0.101
g A = In 0.103 0.099 0.101
B A b 2 K 0.106 0.107 0.107
g B8 % M 0.097 0.108 0.103
BERAREM(XE) 0.240 0.237 0.239
BERARER(DE) 0.195 0.174 0.185
% A R B f§ 0.332 0.320 0.326
ERIUEERERS AEBDI=HKRETE
BERELV 22— AEBDT=HKRETH

SGAEX., BEZORE-BEDHRREFICHSINT, 9:00(ELHT'REELEIX10:00), 15:00M1
H2[E., #EtE1cm,. 50cm. Tm®D3 A TEHAILTLVET,




REHRERERHBR

BIFHH ER24%E1H8118
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A I 0.097 0.098 0.098
2 B = I 0.078 0.096 0.087
g A P F K 0.105 0.101 0.103
B B Y M 0.094 0.100 0.097
FERAERER(KE) 0.272 0.193 0.233
BERARER(2E) 0.260 0.239 0.250
# 7 R E £ 0.510 0.534 0.522
ERIREE LIS 0.307 0.325 0.316
BERECLV2— 0.382 0.375 0.379
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.096 0.101 0.099
g2 B = 0.084 0.096 0.090
B A b 2 K 0.113 0.109 0.111
B B Y M 0.101 0.097 0.099
BEEREM(KED) 0.249 0.214 0.232
BRARFEM(DE) 0.212 0.214 0.213
# 7 R E £ 0.361 0.373 0.367
B RIUkE RIS 0.302 0.315 0.309
BEXEtL 97— 0.324 0.317 0.321
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.101 0.099 0.100
g A = I© 0.093 0.100 0.097
B A b F K 0.125 0.121 0.123
B B Y M 0.103 0.107 0.105
FERRER(KE) 0.261 0.222 0.242
BERAREM(HE) 0.186 0.194 0.190
5 R E f# 0.293 0.318 0.306
ERIIREE LIS 0.293 0.304 0.299
BERECLV 22— 0.277 0.299 0.288

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




REHRERERHBR

BIFHH Er24%1H12H
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A I 0.098 0.099 0.099
2 B = I 0.083 0.089 0.086
g A P F K 0.098 0.097 0.098
B B Y M 0.100 0.094 0.097
FERAERER(KE) 0.156 0.260 0.208
BERARER(2E) 0.236 0.270 0.253
# 7 R E £ 0.577 0.528 0.553
ERIREE LIS 0.301 0.340 0.321
BERECLV2— 0.343 0.357 0.350
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.099 0.099 0.099
g2 B = 0.093 0.101 0.097
B A b 2 K 0.105 0.102 0.104
B B Y M 0.087 0.100 0.094
BEEREM(KED) 0.199 0.260 0.230
BRARFEM(DE) 0.206 0.203 0.205
# 7 R E £ 0.343 0.361 0.352
B RIUkE RIS 0.285 0.325 0.305
BEXEtL 97— 0.317 0.317 0.317
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.100 0.101 0.101
g A = I© 0.114 0.112 0.113
B A b F K 0.124 0.122 0.123
B B Y M 0.092 0.105 0.099
FERRER(KE) 0.209 0.216 0.213
BERAREM(HE) 0.182 0.175 0.179
% A R B f§ 0.286 0.283 0.285
ERIIREE LIS 0.283 0.304 0.294
BERECLV 22— 0.285 0.297 0.291

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




REHRERERHBR

BIFHH Er24%1H13H
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A I 0.094 0.096 0.095
2 B = I 0.090 0.097 0.094
g A P F K 0.107 0.099 0.103
B B Y M 0.103 0.095 0.099
FERAERER(KE) 0.190 0.181 0.186
BERARER(2E) 0.266 0.308 0.287
# 7 R E £ 0.500 0.538 0.519
ERIREE LIS 0.312 0.293 0.303
BERECLV2— 0.319 0.332 0.326
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.096 0.097 0.097
g2 B = 0.090 0.082 0.086
B A b 2 K 0.105 0.104 0.105
B B Y M 0.102 0.096 0.099
BEEREM(KED) 0.223 0.233 0.228
BRARFEM(DE) 0.208 0.210 0.209
# 7 R E £ 0.395 0.367 0.381
B RIUkE RIS 0.305 0.288 0.297
BEXEtL 97— 0.310 0.327 0.319
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.098 0.099 0.099
g A = I© 0.113 0.092 0.103
B A b F K 0.103 0.110 0.107
B B Y M 0.105 0.105 0.105
FERRER(KE) 0.242 0.231 0.237
BERAREM(HE) 0.209 0.192 0.201
% A R B f§ 0.326 0.333 0.330
ERIIREE LIS 0.302 0.285 0.294
BEREL 42— 0.287 0.271 0.279

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




REHRERERHBR

BIFHH Er24%1H16H
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A I 0.099 0.097 0.098
2 B = I 0.090 0.091 0.091
g A P F K 0.093 0.092 0.093
B B Y M 0.089 0.100 0.095
FERAERER(KE) 0.193 0.178 0.186
BERARER(2E) 0.299 0.264 0.282
# 7 R E £ 0.507 0.376 0.442
ERIREE LIS 0.312 0.324 0.318
BERECLV2— 0.355 0.371 0.363
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.096 0.099 0.098
g2 B = 0.102 0.107 0.105
B A b 2 K 0.092 0.092 0.092
B B Y M 0.080 0.099 0.090
BEEREM(KED) 0.199 0.210 0.205
BRARFEM(DE) 0.212 0.208 0.210
# 7 R E £ 0.396 0.369 0.383
B RIUkE RIS 0.307 0.307 0.307
BEXEtL 97— 0.310 0.330 0.320
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.092 0.102 0.097
g A = I© 0.099 0.107 0.103
B A b F K 0.102 0.101 0.102
B B Y M 0.092 0.100 0.096
FERRER(KE) 0.205 0.212 0.209
BERAREM(HE) 0.194 0.191 0.193
% A R B f§ 0.316 0.307 0.312
ERIIREE LIS 0.307 0.301 0.304
BEREL 42— 0.287 0.294 0.291

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




REHRERERHBR

BIFHH ER24%E1H8178
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A N 0.110 0.099 0.105
2 B = I 0.087 0.097 0.092
g A P F K 0.083 0.085 0.084
B B Y M 0.081 0.092 0.087
BEARARER(KEAE) 0.227 0.252 0.240
BERARER(2E) 0.254 0.257 0.256
# 7 R E £ 0.533 0.546 0.540
ERIREE LIS 0.300 0.329 0.315
BERECLV2— 0.339 0.339 0.339
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.103 0.104 0.104
g2 B = 0.101 0.087 0.094
B A b 2 K 0.103 0.101 0.102
B B Y M 0.099 0.094 0.097
BEEREM(KED) 0.237 0.222 0.230
BRARFEM(DE) 0.199 0.191 0.195
# 7 R E £ 0.325 0.377 0.351
B RIUkE RIS 0.297 0.314 0.306
BERELV2— 0.319 0.306 0.313
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
g 8 — 0.106 0.105 0.106
g A = I© 0.099 0.109 0.104
B A b F K 0.106 0.105 0.106
B B Y M 0.092 0.097 0.095
FERRER(KE) 0.253 0.242 0.248
BERAREM(HE) 0.175 0.164 0.170
% A R B f§ 0.301 0.279 0.290
ERIIREE LIS 0.289 0.303 0.296
BEREL 42— 0.274 0.277 0.276

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




REHRERERHBR

BIFHH Er24%1H18H
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A N 0.098 0.100 0.099
2 B = I 0.091 0.093 0.092
g A P F K 0.084 0.085 0.085
B B Y M 0.099 0.097 0.098
BEARARER(KEAE) 0.244 0.172 0.208
BERARER(2E) 0.245 0.242 0.244
# 7 R E £ 0.552 0.564 0.558
ERIREE LIS 0.314 0.328 0.321
BERECLV2— 0.336 0.369 0.353
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.100 0.103 0.102
g2 B = 0.102 0.114 0.108
B A b 2 K 0.102 0.104 0.103
B B Y M 0.089 0.103 0.096
BEEREM(KED) 0.246 0.219 0.233
BRARFEM(DE) 0.198 0.192 0.195
# 7 R E £ 0.368 0.367 0.368
B RIUkE RIS 0.303 0.313 0.308
BEXEtL 97— 0.297 0.337 0.317
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.102 0.104 0.103
g A = I© 0.110 0.104 0.107
B A b F K 0.107 0.105 0.106
B B Y M 0.108 0.103 0.106
FERRER(KE) 0.252 0.220 0.236
BERAREM(HE) 0.170 0.201 0.186
% A R B f§ 0.325 0.309 0.317
ERIIREE LIS 0.284 0.307 0.296
BEREL 42— 0.292 0.289 0.291

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




REHRERERHBR

BIFHH ER24%E1H198
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A N 0.102 0.105 0.104
2 B = I 0.093 0.093 0.093
g A P F K 0.084 0.087 0.086
B B Y M 0.098 0.106 0.102
FERAERER(KE) 0.188 0.169 0.179
BERARER(2E) 0.286 0.227 0.257
# 7 R E £ 0.462 0.504 0.483
ERIREE LIS 0.331 0.323 0.327
BERECLV2— 0.320 0.358 0.339
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.099 0.102 0.101
g2 B = 0.098 0.094 0.096
B A b 2 K 0.100 0.101 0.101
B B Y M 0.107 0.108 0.108
BEEREM(KED) 0.223 0.181 0.202
BRARFEM(DE) 0.218 0.189 0.204
# 7 R E £ 0.362 0.364 0.363
B RIUkE RIS 0.319 0.306 0.313
BEXEtL 97— 0.314 0.308 0.311
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.101 0.100 0.101
g A = I© 0.108 0.111 0.110
B A b F K 0.108 0.107 0.108
B B Y M 0.094 0.100 0.097
FERRER(KE) 0.234 0.188 0.211
BERAREM(HE) 0.207 0.178 0.193
% A R B f§ 0.325 0.345 0.335
ERIIREE LIS 0.304 0.297 0.301
BEREL 42— 0.274 0.289 0.282

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




REHRERERHBR

BIFHH ER24%1H208
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A N 0.104 0.109 0.107
2 B = I 0.141 0.082 0.112
g A P F K 0.091 0.090 0.091
B B Y M 0.088 0.094 0.091
BEARARER(KEAE) 0.172 0.180 0.176
BERARER(2E) 0.285 0.279 0.282
# 7 R E £ 0.410 0.368 0.389
ERIREE LIS 0.290 0.292 0.291
BERECLV2— 0.336 0.317 0.327
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.111 0.098 0.105
g2 B = 0.142 0.108 0.125
B A b 2 K 0.102 0.101 0.102
B B Y M 0.094 0.103 0.099
BEEREM(KED) 0.200 0.227 0.214
BRARFEM(DE) 0.209 0.190 0.200
# 7 R E £ 0.324 0.330 0.327
B RIUkE RIS 0.283 0.285 0.284
BEXEtL 97— 0.304 0.292 0.298
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
g 8 — 0.109 0.105 0.107
g A = I© 0.125 0.119 0.122
B A b F K 0.107 0.105 0.106
B B Y M 0.089 0.100 0.095
FERRER(KE) 0.218 0.230 0.224
BERAREM(HE) 0.180 0.177 0.179
% A R B f§ 0.272 0.302 0.287
ERIIREE LIS 0.283 0.280 0.282
BEREL 42— 0.284 0.280 0.282

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




REHRERERHBR

BIFHH ER245%1H23H
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A N 0.109 0.098 0.104
2 B = I 0.071 0.082 0.077
g A P F K 0.095 0.092 0.094
B B Y M 0.075 0.080 0.078
FERAERER(KE) 0.113 0.111 0.112
BERARER(2E) 0.237 0.235 0.236
# 7 R E £ 0.252 0.281 0.267
ERIREE LIS 0.264 0.262 0.263
BEREL 42— 0.255 0.277 0.266
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.104 0.094 0.099
g2 B = 0.077 0.065 0.071
B A b 2 K 0.104 0.105 0.105
B B Y M 0.080 0.070 0.075
BEEREM(KED) 0.126 0.151 0.139
BRARFEM(DE) 0.211 0.198 0.205
# 7 R E £ 0.246 0.266 0.256
B RIUkE RIS 0.250 0.256 0.253
BEXEtL 97— 0.224 0.254 0.239
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.105 0.091 0.098
g A = I© 0.061 0.071 0.066
B A b F K 0.108 0.107 0.108
B B Y M 0.073 0.082 0.078
FERRER(KE) 0.153 0.143 0.148
BERAREM(HE) 0.179 0.162 0.171
% 7 R E £ 0.226 0.216 0.221
ERIIREE LIS 0.247 0.242 0.245
BERECLV 22— 0.213 0.225 0.219

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




REHRERERHBR

BIFHH ER245%1H248
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A I 0.085 0.070 0.078
2 B = I 0.095 0.072 0.084
g A P F K 0.080 0.087 0.084
B B Y M 0.072 0.075 0.074
FERAERER(KE) 0.124 0.183 0.154
BERARER(2E) 0.225 0.216 0.221
# 7 R E £ FIBREEEDDOHKRETA
ERIREE LIS 0.261 0.279 0.270
BERELV2— 0.286 0.291 0.289
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
& I 0.089 0.077 0.083
g2 B = 0.084 0.075 0.080
B A b F K 0.081 0.085 0.083
B B Y M 0.074 0.077 0.076
BEEREM(KED) 0.162 0.148 0.155
BRAFM(DE) 0.183 0.181 0.182
# 7 R E £ FIBREEEDDOHKRETAI
B RIUkE RIS 0.244 0.253 0.249
BEXEL 92— 0.237 0.240 0.239
#HhE=E1m B w90 —A~" Wb/ B
i % £ 9:00 15:00 b SYED
& B — 0.087 0.085 0.086
g A = In 0.081 0.079 0.080
B A b 2 K 0.094 0.097 0.096
g B8 % M 0.083 0.074 0.079
FERAERER(KE) 0.138 0.165 0.152
BERAREM(HE) 0.155 0.175 0.165
# 7 R E £ FIBREEEDDOHKRETA
ERILREE LIS 0.232 0.241 0.237
BEREL 42— 0.218 0.221 0.220

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,




TG #R E R ERER

BIEAH k2441 H258
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A N 0.084 0.081 0.083
2 B = I 0.101 0.069 0.085
g A P F K 0.080 0.081 0.081
B B Y M 0.075 0.075 0.075
FERAERER(KE) 0.160 0.197 0.179
BERARER(2E) 0.203 0.207 0.205
# 7 R E £ FIBREEEDDOHKRETAI
ERIREE LIS 0.250 0.262 0.256
BERELV2— 0.307 0.312 0.310
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
& I 0.085 0.084 0.085
g2 B = 0.087 0.066 0.077
B A b F K 0.099 0.098 0.099
B B Y M 0.069 0.082 0.076
BEEREM(KED) 0.156 0.158 0.157
BRAFM(DE) 0.172 0.173 0.173
# 7 R E £ FIBREEEDDOHKRETA
ERIUEEFERG 0.233 0.254 0.244
BEXEL 92— 0.239 0.255 0.247
#HhE=E1m BT w490y —~" b/ B
i % £ 9:00 15:00 b SYED
& B — 0.090 0.088 0.089
g A = In 0.077 0.076 0.077
B A b 2 K 0.104 0.103 0.104
g B8 % M 0.085 0.075 0.080
FERAERER(KE) 0.162 0.157 0.160
BERAREM(HE) 0.162 0.160 0.161
5 R E f# RIBEEEDDOHKRETA
ERILREE LIS 0.219 0.239 0.229
BERZEL 42— 0.236 0.235 0.236

YCAFEIL. ZEHEFRORE - BEDPREIZHINT. 9:00(SERETREEEIL10:00), 15:00M0 1
EZIEI HEES1cm, 50cm, Tm®D3ETEHAILTLNVET,




TG #R E R ERER

BIEAH k24415268
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A I 0.075 0.085 0.080
2 B = I 0.076 0.068 0.072
g A P F K 0.076 0.081 0.079
B B Y M 0.070 0.068 0.069
FERAERER(KE) 0.135 0.171 0.153
BERARER(2E) 0.224 0.244 0.234
# 7 R E £ FIBREEEDDOHKRETAI
ERIREE LIS 0.263 0.259 0.261
BERELV2— 0.283 0.293 0.288
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
& I 0.080 0.090 0.085
g2 B = 0.063 0.070 0.067
B A b 2 K 0.087 0.092 0.090
B B Y M 0.076 0.081 0.079
BEEREM(KED) 0.144 0.159 0.152
BRAFM(DE) 0.169 0.179 0.174
# 7 R E £ FIBREEEDDOHKRETA
ERIUEEFERG 0.251 0.188 0.220
BEXEL 92— 0.247 0.243 0.245
#HhE=E1m BT w490y —~" b/ B
i % £ 9:00 15:00 b SYED
g B — 0.084 0.092 0.088
g A = In 0.064 0.070 0.067
B A b 2 K 0.108 0.105 0.107
g B8 % M 0.069 0.085 0.077
FERAERER(KE) 0.161 0.158 0.160
BERAREM(HE) 0.152 0.170 0.161
5 R E f# RIBEEEDDOHKRETA
ERILREE LIS 0.216 0.212 0.214
BERZEL 42— 0.240 0.235 0.238

YCAFEIL. ZEHEFRORE - BEDPREIZHINT. 9:00(SERETREEEIL10:00), 15:00M0 1
EZIEI HEES1cm, 50cm, Tm®D3ETEHAILTLNVET,




TG #R E R ERER

BIFHH ER24%1H278
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A I 0.089 0.079 0.084
2 B = I 0.103 0.062 0.083
g A P F K 0.088 0.089 0.089
B B Y M 0.085 0.080 0.083
FERAERER(KE) 0.159 0.178 0.169
BERARER(2E) 0.219 0.265 0.242
# 7 R E £ FIBREEEDDOHKRETAI
ERIREE LIS 0.273 0.276 0.275
BERELV2— 0.334 0.291 0.313
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
& I 0.084 0.080 0.082
g2 B = 0.105 0.070 0.088
B A b F K 0.098 0.097 0.098
B B Y M 0.077 0.085 0.081
BEEREM(KED) 0.161 0.152 0.157
BRAFM(DE) 0.203 0.200 0.202
# 7 R E £ FIBREEEDDOHKRETA
ERIUEEFERG 0.245 0.267 0.256
BEXEL 92— 0.245 0.252 0.249
#HhE=E1m BT w490y —~" b/ B
i % £ 9:00 15:00 b SYED
g B — 0.076 0.082 0.079
g A = In 0.086 0.077 0.082
B A b 2 K 0.107 0.105 0.106
g B8 % M 0.072 0.076 0.074
FERAERER(KE) 0.154 0.168 0.161
BERAREM(HE) 0.166 0.202 0.184
# 7 R E £ KIBREEZEDDOI=HRETE
ERILREE LIS 0.234 0.250 0.242
BERELVI— 0.242 0.213 0.228

YCAFEIL. ZEHEFRORE - BEDPREIZHINT. 9:00(SERETREEEIL10:00), 15:00M0 1
EZIEI HEES1cm, 50cm, Tm®D3ETEHAILTLNVET,




REHRERERHBR

AlEHAH T r2441H30H

hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A N 0.076 0.081 0.079
2 B = I 0.065 0.104 0.085
g A P F K 0.077 0.079 0.078
B B Y M 0.074 0.081 0.078
BEARARER(KEAE) 0.122 0.147 0.135
BERARER(2E) 0.229 0.252 0.241
# 7 R E £ 0.085 0.096 0.091
ERIREE LIS 0.235 0.226 0.231
BERECLV2— 0.293 0.315 0.304
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
g A — 0.077 0.083 0.080
B A = 0.079 0.093 0.086
B A b F K 0.097 0.099 0.098
B B Y M 0.077 0.076 0.077
BEEREM(KED) 0.111 0.155 0.133
BRARFEM(DE) 0.172 0.198 0.185
# 7 R E £ 0.101 0.119 0.110
B RIUkE RIS 0.227 0.217 0.222
BEXEtL 97— 0.240 0.248 0.244
HES1m B v1yny—A' Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.080 0.090 0.085
g A = I© 0.073 0.080 0.077
B A b F K 0.105 0.104 0.105
B B Y M 0.094 0.077 0.086
FERRER(KE) 0.119 0.160 0.140
BERAREM(HE) 0.155 0.178 0.167
% A R B f§ 0.098 0.109 0.104
ERIIREE LIS 0.214 0.202 0.208
BERECLV 22— 0.239 0.241 0.240

SGAEX., BHEZORE-BEDHRREFICHSINT, 9:00(EHHTEEELEIX10:00), 15:00M1
H2[E. #1 E&1cm, 50cm. TmD3 M TEHRAIL TLVET,




REHRERERHBR

BIFHH Er24%1H31H
hES1cm B 37 . v (90—~ Vb /B
i B4 % 9:00 15:00 (s
% A I 0.091 0.089 0.090
2 B = I 0.102 0.071 0.087
g A P F K 0.087 0.092 0.090
B B Y M 0.075 0.092 0.084
FERAERER(KE) 0.229 0.295 0.262
BERARER(2E) 0.228 0.217 0.223
# 7 R E £ 0.091 0.108 0.100
ERIREE LIS 0.246 0.227 0.237
BERECLV2— 0.314 0.306 0.310
#h F=50cm B 57 . v4()ny—A' Vb /B
i B4 % 9:00 15:00 FE{E
s & — 0.090 0.088 0.089
g2 B = 0.100 0.078 0.089
B A b F K 0.090 0.095 0.093
B B Y M 0.067 0.096 0.082
BEEREM(KED) 0.173 0.208 0.191
BRARFEM(DE) 0.208 0.180 0.194
# 7 R E £ 0.107 0.135 0.121
B RIUkE RIS 0.231 0.206 0.219
BERELV2— 0.239 0.266 0.253
HES1Tm B w90 —A~" Wb/ B
i B4 £ 9:00 15:00 b SYED
& B — 0.083 0.086 0.085
g A = I© 0.094 0.078 0.086
B A b F K 0.110 0.103 0.107
B B Y M 0.079 0.088 0.084
FERRER(KE) 0.153 0.212 0.183
BERAREM(HE) 0.179 0.140 0.160
% A R B f§ 0.115 0.126 0.121
ERIIREE LIS 0.206 0.197 0.202
BEREL 42— 0.234 0.254 0.244

SGAEX., BEZORE - BEDRREZICHSINT, 9:00(ERHT'REELEIX10:00). 15:00M1
A2ME. #t ES51cm. 50cm. TImDI3ETEHAIL TLVET,
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